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¢. {a) Explain the procudure forf determining the fndex ci

i rha}
indexing.

(b) Witk 2 neat sketek, explain arbor assembly w willing. {4 Marks)

I illi & Muika

{c) Differentiate up- ailling and down willing. {4 Muika}

he specificativn of a grinding wueel. {4 Marks)

7. (a) Explain with aa exanple, b
(4 Murks)

(b} Write a note on dressing and turning of grinding wheel.

(¢) Explain the following with sketches
) : Macks)
i) Honing i) Lapping. {10

inciple of abrasive jet machining.

8. (a) With a neat sketch, explain the working pr (15 Marks)

List its advantages.

ation of ECM. List its industrial

(b} Explain with a neat sketch, the oper (10 Marke)

applications.
Xk ok KK

oo N

Fifth Sewester B.E. Degree Bxanination, January/February 2005
ME/IM/IP/MA/AU
Manufacturing Process-II

I 3 hrs.] » [Max.Marks : 100

Note: Answer any FIVE full questions.
2. Write ueat sketches. .

1. (a) Name the seven parameters specified in the same order in orthogonal system.
(4 Marks)

(b) Mention atleast four factors which inprove cutting efficiency.

. (4 Marks)

{c) Sketch Merchant’s circle diagram and explain the different quantities involved.

What are the assumptions made by Merchaat while constructing a Merchants
igram?

(12 Marks}
2. (a} Explain with a neat sketeh crater wear aud flank wear.
(4 Marks)
th) Explain the term Machinability Index.
{4 Marks)

ic} During orthogonal turning operaton, the following data was cbtained:

Cutting force Fpy = 1200N
Feed force Fy= 300N
Rake angle = 1
Feed= 0.2:nm/ revelution
Width of cut= 2.2mm
Chip thickness= 0.4oun
Cutting speed= 120m/min

Determine the fellowing:
i} Clip thickngss ratio,
i} Shear angle.

1) Sheac stress.
{10 Marks)

13, () With a neat sketch explain the turret indexing mechanism.
. (% Marks)

ib) List out the differences belwecn capsion and turret lathe.
(8 Marks)

te} A manufacturing company is to manufacture 45 components to fill an order.
A turret lathe ap’ o ens”  lathe are available. The record shows the
luliowing data. ) /
Nl
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Tme: 3 his) iMax Marks 1 100

1. (ay What are the varous forms of wear found in single point tool.

(b

{c

{a,

[t}

=

Nole: 1. Answerany FIVE tul questions.
2, All questions cafry equal marks.

How do they affact
the metal cutting performancea. Also explain the gifect of process parometers on
the tocl wear. (8 Masks)

Discuss the Importance of shear angle In metdl cufting. Derive an exprassion for

shear angle In aifhogonal cutting I terms of iake angle and chip thickness afio.
(&6 Marks)

p=

Exoiacin the ditfetent fypes of chips that are formed in Bm.a_ cuthing- {6 Maks)

Define taol life and ciso briefly expiain how cutting conditions and ool geormelry
contial the tact fife of a single point cutting tcol. (6 Marks)

what are the gesirable properties of @ cutting tocl matericl? Explain how hese
are scisfied in the cosa of nigh speed desis and cemented corpides. {8 Marks}

(c) Discuss tha satient features of coated cartiges and Cercmics. Cornmant on e

{a

(b
{c

(a,

(o

(&) Explain brefly tha {ollowing operations: reaming, borng and counter boring.

(o

(o

[

cuitabiity as culting ool matenal.. (& Matks)

Describa the constructional features of a turret lathe. How is it citferent from G0

: snging lathe? {4 Matks)
1 Chscuss any two methods of toot holding davices used in turrat icthe. {6 Marks)
y Draw a tool layout for nexagenal neaded golf in a capstan iathe. (8 Marks)
y Eaplonn oriefly the construction feafures of a racial driling maching with a skatch.

(8 Marks}
y with a neat sketch describe ihe important elements of a hwist crill. (5 Marks)

(6 Marks}

Explain the functioning of @ hycrauic shapet with G schematic skatch. {6 Marks)

Describe the importance of quick returm mahon in g shaper. Also explain the crank
and slonad link mechanism to cbtain such quick ratum maotian. {8 Marks)

A snaper is operated af 120 curing stiokas pet minute cnd is used ¢ macnine
q woiomecs 250mmoin lengtn and 120mm in width.,  Assuming © teed rate Of
0 & par siroke and o depih of cut 3mm, calculote the total fima of machining
no component. The forwud Loke i§ compated 0 230" of crank rotation. ASO
e e Sutcuniag of o whon iho tool I not contacling the wWOrkpiece.
e SREIoaCT GlaLL PRI, (& MaoIks)
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